—>

1.1:programClass:=forName(” #1”)

Class

—>
1.2:program:=newInstance()

programClass:Class

program:ConcretePrograml

—> —>
M 2 ” .
main (7 #1”) AbstractDynamicProgram 1.3:start()
Lirun(”#17)
System.out:

java AbstractDynamicProgram ConcertePrograml

The inheritance tree (note that start is italicized):

AbstractDynamicProgram

main(args:String[])

run(programName:String)
start()

/N

ConcretePrograml ConcreteProgram?2

1.3.1:println("#1”)

<



— >

main(”#1”)

—>

1.1:programClass:=forName(” #1”)

Class

—>

1.2:program:=newInstance()

AbstractDynamicProgram

—>

1.3:start()

programClass:Class

program:ConcretePrograml

lL:irun(”#1”7)

System.out:

public abstract class AbstractDynamicProgram {

public static void main(String args[]) {

run(args[0]); // 1:

¥
¥

1.3.1:println("#1”)

<



— >

main(”#1”)

—>

1.1:programClass:=forName(” #1”)

Class

—>

1.2:program:=newInstance()

AbstractDynamicProgram

—>

1.3:start()

programClass:Class

program:ConcretePrograml

Lirun(”#17)

System.out:

Class programClass = Class.forName(programName); // 1.1:

1.3.1:println("#1”)

<



—>

1.1:programClass:=forName(” #1”) Class

—>

1.2:program:=newlnstance() programClass:Class

— > —>

main(”#1”) 1.3:start()

AbstractDynamicProgram program:ConcretePrograml

Lirun(”#17)

System.out:

1.3.1:println("#1”)

<

AbstractDynamicProgram program = (AbstractDynamicProgram)programClass.newlnstance(); // 1.2:



—>

1.1:programClass:=forName(” #1”) Class

—>

1.2:program:=newInstance() programClass:Class

— > —>

main(”#1”) 1.3:start()

AbstractDynamicProgram program:ConcretePrograml

Lirun(”#17)

System.out:

1.3.1:println("#1”)

<

program.start(); // 1.3:



— >

main(”#1”)

—>

1.1:programClass:=forName(” #1”)

Class

—>

1.2:program:=newInstance()

System.out.println("ConcretePrograml") ;

AbstractDynamicProgram

—>

1.3:start()

programClass:Class

program:ConcretePrograml

Lirun(”#17)

System.out:

// 1.3.1:

1.3.1:println(” #1”)

<



